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What is  3/10 
as a decimal?







A) B)                               C)

C)



.
When Anya divides the 

number by 10, each column 

is now worth ten times less 

than it did before. So, instead 

of being worth 1 ten, the 

single counter is now worth 1 

one. Instead of being worth 2 

ones, the two counters are 

now worth 2 tenths. The 

counters shift one place to 

the right. 12 ÷ 10 = 1.2



Describe what the counters are worth and what they will be 

worth after they have been divided by 10.



Describe what the counters are worth and what they will be 

worth after they have been divided by 10.

The counters are worth 2 tens and 5 

ones (this is equal to 25).

After being divided by 10, they shift 

one place to the right and become 

worth 2 ones and 5 tenths.

25 ÷ 10 = 2.5



https://mathsbot.com/manipulatives/placeValueCounters








